Solution to Puzzle #165 — February, 2015 "Where are. ..
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The omitted letters (in parentheses in the list below) spell
THE SNOWS OF YESTERYEAR

Across
A(T)TIRE
KITC(H)EN
COVER
INROAD
H(E)MER
ALTAR
NOTARY
NIECE
MU(S)SED

. COMET

. ROSI(N)

. LEAD

. ASTUTE

. LEAR

. ENTAIL

. RES(O)LVE

. JENNY

. (W)ENDED

. (SLANG

. DUNCE

. RES(O)RT

. LEGISLATE

. (F)OREMAN
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Down
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10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.

(Y)ACHT
SILENC(E)
STOMA
(S)ELES
DELIVER
DEALER
AR(T)ERY
CARV(E)
DETER
ANODE
ELSE
KILIMANJARO
INTE(R)EST
ENTR(Y)
TRACT
TANGLE
CORE
RUIN
DEMEAN
MOTL(E)Y
UGAND(A)
(R)OUSE
RENIN

Kevin Wald solved the puzzle in 55 minutes.
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